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When was the first election of the
Haryana Legislative Assembly held ?
(A) 1962 (B) 1967

(C) 1972 (D) 1977

(E) Not attempted

The first archaeological excavation
in Haryana was done by which
Archaeologist ?
(A) Cunningham
(B) D. D. Snooper T ]
(C) H. L. Srivastava [='<[=]
(D) None of the above
'(E) Not attempted

8. India successfully test-fires new

generation anti-radiation missile
recently, what is the name of that
missile ?

(&) Agni-1  (B) Prithvi-1
(C) Brahmos (D) Rudram-1
(E) Not attempted

PT - 24

1. zfEmn fyume +1 vgen 399 #9
gam o7 7

(A) 1962 L(B) 1967
(C) 1972 (D) 1977
(E) IT9fad

2. AT ¥ YgeT qUdTcas Sc@ fohd
Urdcatag gr femam mam o S
—{A) i
(B) €I. gt HW
(C) WH. Td. Har<g
(D) Suded | & g TEl
(E) STSRmEd

3. Wﬁwaﬁﬁ#tﬁaﬁaﬁ@‘@'@n
THETSA T TheAdTas BT foha, 3

TEEa ST I FT R ?
(a) A -1 (B) geaft-1
(C) S ~(D) ¥5H-1
(E) 39y
4. @ TS S ¥ yHaEH e (7) H @WE
q::aqﬁa@g%ﬁmﬁm l
(g ] 5,15, 18, 17, 2~
(A)/z?"‘/s (B) 19
(C) 18 .(D) 21
(E) 3T

5. &R | A @A AT 39 I SFRe
A 2007-10 % s HRART 841 & 23 9 =6
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15. Which among the following districts

are being developed by the Haryana
Fishery Resource Development
Authority ?

(A) Gurgaon, Hisar, Rohtak

(B) Panipat, Karnal, Faridabad
(C) Charkhi Dadri, Jind, Jhajjar
(D) Panchkula, Ambala, Kurukshetra
(E) Not attempted

16. In 7™ Century A.D., this Chinese
pilgrim visited Haryana.

(A) Hsi-yti Chi
(C) Fa-hsien

(E) Not attempted

(B) Hiuen Tsang
(D) Markopolo

17. Which of the following statements is

not correct with regard to nature of
mathematics ?

(A) Mathematics uses special
vocabulary to communicate ideas
precisely.

Argumentation skill is important
in construction of mathematical
knowledge.

Mathematical concepts are
hierarchical in nature.

Primary level mathematics is
concrete and does not require
abstraction.

(E) Not attempted

(B)

(©)

(D)

18. Who among the following writers of

Haryana wrote the famous drama
‘Court Martial’ ?

(A) Swadesh Deepak

(B) Uttamchand Sharad i E]
(C) Jwala Prasad Shahi I,:ff :
(D) None of the above (=] (=]

PT - 24

15. EEON 9o FE1egd o uTfiesr g
T=fefiga 9 9 o e =1 fasa e
@R ?

(A) TeTTd, TeER, Ugd

i (B) T, A, BeETg

e (C) = areh, S, Fen
4(D) TE%RAT, ST, FHHEA

(E) 3T9=nfa
16. 7 o warsel 3. 4, 39 =T didaEh 3
e 6 2 feRam
(Aa) sft-7 = (B) & T
~(C) BTEREE (D) HTHTITAT
(B) ST9=maa

17. TIUrG 61 S&hid o €ey
-1 Y g2 787
AA) TIOT, Tl ! @i &9 ¥ Tufa

FH % fou fasiy sreeraeft =1 399m
FAT 8 |
(B) IO 5 = fgior § a6 $ive
(C) Tivre e Yehfa H Tershiaa
il & 1
(D) ST TR 1 TG qd arar 2 37
S e Y ST T8 A 2
(E) 3T

4 fefaa 9 |
?

g

18. sfEmn & fy=fafag caw ¥ 9 o
(A) FEew e
(B) STHEE ING

- (C) saren yETg wrEl
(D) 39 | ¥ HI1g 7

(E) Not attempted

(E) 319=ad
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19,

20.

21.

22-

%

If P means x, R means +, T means +
and S means -, then 18T3P9S8R6 is

(A) —1%’ (B) 46
(C) 52 (D) % %%'n@#
(E) Not attempted (=] [5]

What is the main characteristic of the
physiography in Sonipat district ?
(A) Predominantly sandy with dunes

(B) Mountainous with occasional
lakes

(C) Divided into Khadar, upland
plain and sandy region

(D) Characterized by deep valleys

(E) Not attempted

Learning disabilities in reading is
(A) Dysgraphia (B) Dysphasia
(C) Dyslexia (D) Dyscalculia
(E) Not attempted

1£5a :2b =3 : 2@and'3b i 7ec =5 ',
then the value of a : b : ¢ is equal to
which of the following ?

(A)y 3:5:3 B) 5:7:3
€)'7:5%3 IDNS3 - 7

(E) Not attempted

Following are four questions posed by

a mathematics teacher. Which of the

following is an open-ended questions ?

(A) If sum of two numbers is 17, then
what are the numbers ?

(B) If the age of Anil is 7 years and
his father’s age is 5 times more
than that of Anil’s age. What will
be the age of father ?

(C) If sum of two numbers is 15 and
one of them is 7, what will be the
other number ?

(D) What should be added to 17

PT - 24

19. M PH AT« 8, RF 3T+ 2, T 379 .2

a1 S 319 - B, A 18T3PIS8R6 71 & 7

) 1%

(B) 46
J(C) 52 D) %
(E) A5amaa
20. #rfua fer o dimfess feafa i geg
ferarer @ 2 7

(A) T&F €9 ¥ Tdfet Zel
(B) 9ETET 3Rt fored wefi-=eft =i

il 2
_(C) @ret, Fuit BeE 3R i &9 3
Trrfea
(D) &t Efeat i famran
(E)
21. Y ¥ Hiwd h1 Hewar 2
(A) feamfea (B) Teosfaan
. (C) fe=ifda (D) fesharpiam
(E) T9=tEa
22, If¢ 5a:2b=3:2FHX 3b:7c=5:7
@ a : b : c % 9 HEffEd § 4557
S B 7 F
(A) 3:5:3 (B) 5:7:3
(C) 7:5:3 D) 5:3:7
(E)
23. U iU T gRI I ¢ ¥R 9

frafafaa 8 | F=fafeaa 5 @ sR-9

U Gl I B 7

(A) afe & weisd %1 3 17 8, @
weand #9418 7

- (B) afe sifie i 3y 7 a9 & 3 IEH

g%,% fierr <61 a1y 3tfrer i g & 5 T

E%5E  ftes & 1 faar 6 sy Fn e 7

() afe & w3t 1 Fh 15 7 3N 3T

¥ w7 8, d gt gen F=@ a7

(D) 17 & = SireT e R 23 W= & 7

get 237 :
(E) Not attempted
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24. People who are related through our
mother are called

(A) Paternal relations
(B) Collateral relations
(C) Affinal relations
(D) Maternal relations

(E) Not attempted
25. Which of the following is a desirable
teaching-learning practice in the
context of Mathematics ?
(A) Students should be told to follow

the prescribed steps of solving
problems.

(B) Open ended questions should be
avoided to prevent confusion.

(C) Intuitive understanding of
concepts should be encouraged.

(D) Open book tests should be
avoided.

(E) Not attempted

26. Choose the wrong number.

4.9 3.5, 7:8; 26.25, 118.125
(A) 118.125 (B) 26.25
) 7.5 (D) 3.5

(E) Not attempted

27. Problems with handwriting, spelling,

organizing ideas is

(A) Dyspraxia

(B) Dysgraphia

(C) Auditory processing
(D) Dyscalculia

(E) Not attempted

disorder

28. Complete the following series.
7,26, 63, 124, 215, 342, ?
(A) 481 (B) 511

(C) 391 (D) 421

(=1 [=]
o

PT - 24

24, ﬁﬁmﬁmmmwnwmmﬁ,
IR FE AR |
(A) g HaY
(B) GUTfvdes Hay
(C) ddTfEeh HaY
,(D)“Tﬁ'mf"i
(E) STTEd

25, T % Hed H FefdfEd 7 5 T’:{ 7] U
e foreu-fam e 2 7 i
_(A) BT I BHEAT H1 B F
Hatfta =won 1 9o F4 & oo

F7l ST =112T |

(B) WH I {hd o for0 get 7ol & 751
TET | %

(C) FEURONSAT 61 FEs 79F I 1 JremTiea
fepar s =fET |

(D) 39T g &2 | F=A1 AT |

(E)

26. T T g |

4.2, 3.5,7.5,26.25, 118.125
£A) 118.125 (B) 26.25
[CL 7.5 (D) 3.5
(E)
o7. frame, addf, femi w1 HaEdd ®H 13
e &
wm (A ferdferaan
w&g* -(B) feani®a
(o] #=3E

(C) Haur SEERl fashn
(D) feeharspiern
(E) 3t
 *Ee b shifom | s
’L/ Je, m 124, 215, 342, ?

~(B) 511

(A)° 481
(€) 391 (D) 421

(E) Not attempted

7.

(E) 3vaTad
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29. 1fZ =52 and ACT = 48, then BAT will | 29. 3¢ Z =52 3T ACT = 48, @1 BAT {3
be equal to TS BT 7
(&) 39 (B) 46 & (A) 39 ,(B) 46
() 44 (D) 41 ’}f}:fi (©) 44 (D) 41
ik
(E) Not attempted == (E) STy
30. Which of the following statements is 30. TR % Uie =0T o A1 7 f=ferfaa
not true about the five steps of the T A FH-T1 FIT G Tal 27
Mathematization ? : !
A) Ted # arefas a1 6l TEEH
(A) Identifying the real problem in (A) |
the context. EaCIN
(B) Memorizing an algorithm. ,(B) T TeATIeR i 416 FLT |
(C) Solving meaningful mathematical ® Tefes i T F1 71 F |
problems. 2 5 F arforeF o
(D) Making sense of mathematical () q decpiiiied
solutions in real life. BEERCEIEUN
(E) Not attempted (E) YT
31. The agents of socialization are 31. YA % P & 205
(A) School and Peers (A) feemer 3R g
(B) Family and school (B) UiER 3R foeme™
(C) Family, Peers, school and mass _(C) TRER, TewHT, foemem 3 FEET
media HieTn
(D) School and mass media (D) Tremem™ 3 SE=R e
(E) Not attempted (E) SToier
32. Which of the following is a narrow 32. T=fafea 9 @ s9-a1 7@ geq &
aim of teaching mathematics ? S 3 z
(A) To make students proficient in 3?“3 q 5 '
handling numbers and number (A) BT 1 TEATST 3 Hear geed B
operations. HTE § B ST |
B) To develop students’ EE (B . ;
< generalization abilities. m% (B) ®ET s war=fiepor enganaii !
(C) To encourage systematic (B iaaﬁ.lﬁ_ﬂ h{AT |
reasoning among Studer b (€) il e o o s |
To develop students’ ability 1o (D) FuH
= a.lc‘)g'-:lethe truth and falsity of ( )wﬁﬂﬁmwﬁ]
statements. &mdr Taesfaa 1
(E) Not attempted (E) sTsrmfee




To conserve the riyer Ganga, wj |
11Ch

Program has been initiated ?

(A) Clean Ganga Mission

(B) Namami Gan
ga Progra
£ mmcE! .

(C) Ganga Action Plan Ii’

(D) Ganga Rejuvenation Project
(E) Not attempted

34. The main aim of comprehensive

evaluation is
(A) the spiritual development of the
child

the emotional development of the
child

all round development of pupils
intellectual development of the
child

Not attempted

(B)

(©)
(D)
(E)
85. What is the significance of
Environmental Studies, as an
integrated environmental science ?
(A) It provides a comprehensive and
holistic understanding of the
environment and its issues
(B) Being able to participate in all
activities
(C) It helps in scoring At in theory &3
well as in practicals
(D) It helps to enjoy Jearning of
science more than that of

language

PT - 24

33. T Al % HEY % AU Hi-w gy
y& fepom m R 7 i
(A) T T fieE
- (B) =8 T S
(C) T UM A
(D) T Rseivem g
(E) TSR

34. a

ST oo 1 & 3297

(A) o= T HTEATICHE faehrE
(B) &=dl W1 WIEHICH® [9hTE
C) forenfiai o1 waftior fosm
(D) S== I sifgeh fawmmE

(E) SASTREa

35. Uehigha UaTeRul foqe o &9 H qie
AT T I HEed & 7 A4
_(A) I8 TRl 3K gHb Hel bl SATTD
3R | HuE yeH il 2
(B) Tt ifaferferi 7 v 2 3 W ST 8

(C) TE et = wer-wre qiffesra § i

A+ T BT o Toru weg T &

E]{;g (D) €& HINT <l G 3 fogr Ee |

....

fireR 3TE greq T H HEG e

(E) Not attempted

(E) YT
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36. Which of the following is most
appropriate strategy for teaching
students to solve mathematical
problems ?

(A) Teacher should begin by
explaining the steps required for
obtaining the solutions of the
problems.

(B) Guess and verify approach
should be strictly discouraged.

(C) Students should be encouraged
to view a problem from many
perspectives.

(D) The list of formulae required for
solving the given set of problems
should be provided in the
beginning.

(E) Not attempted
37. A watch reads 4 : 30. If the minute
' hand points to east in which
direction does the hour hand point ?
(B) South-East
(D) North

(A) North-East

(C) North-West

(E) Not attempted
38. The teachingis said to be effective

when the teacher gives

(A) more explanation

(B) more leisure time

(C) individual attention

B E
m“"fﬁi,

5 -85,

(D) more freedom

(E) Not attempted
39. Select the pair similar to

i. (C] 3:24 (D) 11 :75
E (B) Not attempted

k.

PT - 24

36. BHEI ! T TEES I & FAI
foram & fau frefafea & 8 SR-4
it HoH I € 7
(A) Tereh = guEAsT & FHIEH 9T
e IE HE] 12U |

(B) 3AH oM 3R Femfyd &
gfeeehivr =1 Tt @ wdlcdTted foha
R |

_ (C) BT W E g & A FH

0] @ = fore Sieafed fepeim ST =1feq |

"_E;:(D] guEal & feu U 8¢ Hl BT HH

T for s i S e W

(E) TSR

37. THURH 4309 F | I e AT g3
q& 1 ST ST FA € Al "ge i gE fhE
fosm i 31X 39T SN ? ﬁt’f'y
(A) T (B) eh-gd
(C) SW-ufvsm (D) IW
(E) 3TrRmred

38. LT o NI WA S @ 5 foew S
TR & B £

(A) 3Tfereh TqsStentyl :
[B)WWWWX :
sy

39. 5:357% HWAF W HI = HL 5
_(A) 9:45 ®) 77
(C) 3:24 (D) 11 : 75
(E) 3TSRImidd
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40. Which of the following statements is

40. TR e # i die § e 3
not correct regarding differently abled

_ forsry &u & e s==t & Hay 4 Pttt
children of dyslexia in mathematics P ' B

learning in an inclusive classroom ? ~H1 Y Tl T R 7
(A) Dyslexia impacts only language (A) fewifeean aer v ey =+

learning not mathematics

SHIfed e 2, wifor g & ;[/EFT |
learning. (B) Rcafs a1 71 33 i
(B) Dyslexic children may have i i i 5
difficulty in writing down their (& 5] AT SN Im%ﬁ m g forg 4
ideas in systematic and organized o ’ HfSTE & wHd B 1
manner.

(C) TTiTa | g Yo feweifams s==ai gm0
(C) Visual patterns in mathematics

help in overcoming difficulties 31':[_‘1'{3 Il Gﬂ%{a'[?ﬁ <hISATSAT T <l
experienced by dyslexicl children. UM H Heg Fd 2 |

(D) None of the above (D) 39 § & HIE T2l

(E) Not attempted (E) TS

41. National Policy on Education 1986 41. U fen fifg 19867 fmm =7 5

has stressed the use of continuous T Had 3T Wﬁ I}\F'JTEB? E2 I

and comprehensive evaluation ITATT 9T AT fer 2 |

especially in - (A) A fram

(A) Nursery education . (B] ST R

{?.’3 Pn.ma.ry e ed‘;cationd education (C) SR TR Fresifis s

:Di Secnndafyn edﬁrz:t?o: i (D) wreafushs fen

(E) Not attempted (B) 3rsemféa

I 42. Which of the following crops 42, W N A S-H BE G149 FHDI

originated in South America ? [ [s] o I g% i

(A) Rice, wheat and maize E]-‘g% (A) =19, ’T_Q"\ '3‘ﬂ'{r HEh]

(B) Barley, rye and oats , (B) ST, T§ 3 ST r

(C) Tomato, potato and green chilli (C) 2ure, 37re i wd e

(D) Cotton, jute and hemp (D) 9T, S 3R &

(E) Not attempted (E) 3Tugrfaa

A
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43. is considered as the major
milestone in cognitive development
because it marks the beginning of
logical or operational thought.

(A) Sensorimotor stage
EI'QE! (B) Pre-operational stage
ég%} (C) Concrete operational stage

(D) Formal operational stage
(E) Not attempted

44. The fundamental feature of school life is
(A) Providing good infrastructure
(B) Providing quality teachers
(C) Promoting pupils’ well-being and
their emotional and physical

safety
(D) None of these
(E) Not attempted

A is B’s brother, C is D’s father, E is
B’s mother, A and D are brothers.
How is E related to C ?

(A) Sister (B) Sister in law
(C) Niece (D) Wife

(E) Not attempted

Complete the following analogy.
Length : Metre : : Angle : ?

(A) Newton (B) Watt

(C) Radians (D) Candela

(E) Not attempted

Pedagogy is concerned with

(A) Aims E%g
O

(B) Content
(C) Evaluation

(D) Teaching methods
(E) Not attempted

45.

12

46.

47.

A, B9 9§ 2, C, D% a1 2, E, BH A
2 A DWES | EH CH TN & |

(B) Wl
(D) Tl

(A) s&d
(C) efrsit
(E) TSR
Frfeiaa aew @ |
Fiﬁl’sfztﬂ?(::@m: ?
(A) =IH
Ac) femm
(E) 3TSRntad

feTTeTeT o1 |eY 8
(A) Je
(B) farrrereg




hich Convert
animals tq
S

the dead plantg and
humus are known »
(A) Decomposers
(B) Producers

(C) Consumers E]jf:.:@
(D) Scavengers [::‘1&'}#

o

(E) Not attempted

In a class, 20 opted for Physics,
for Maths, 5 for both and 10 for oth
subjects. The num]
the class is

(A) 35 (B) 42
(€) 52 (D) 60
(E) Not attempted

17
ET
Jer of students in

Green leaves make their food by the

process of

(A) Photosynthesis
(B) Respiration
(C) Transpiration
(D) Germination

(E) Not attempted

Which district of Haryana has a
topography characterized by lor}g and
narrow pediments and undulations
caused by windblown sands ?

(A) Mewat (B) Gurgaon

(C) Panchkula (D) Karnal

(E) Not attempted

Socialization is the process of
learning to become a member of the
(A) School

(B) Society

(C) Committee

(D) None of the above

(E) Not attempted

48, T M S ST o e T
' R ETH i
~AA) FAYEE
(B) 3ure®

(C) I e
(D) Eeheam

(B) 3rsemfire

Uh el | 20 7 e fmm, 17 3
59 grT fowa a2m 10 3 37 ferseii 1
feparr | e # fernfefit i ze fd 2 o e

(E) 3TsEmfda

(D) 31T

(E) Irw=maa

g & fope faet o wempE o9 AR
gt Tfedt o g & I A P
HRUT B Grell IAR-"e JE &

(E) ST

fera dlig <t HIHATE |

[ (c) afHfd O
(D) 31_‘{1‘1&?}_:1 4 g &g 18l

() S

-13-
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54.

55.

56.

57.

Who is known as Hadi - e - Haryana ?
(A) Shah Gulam

(B) Shah Muhammad Ramzan
(C) Gulam Qadir

(D) None of the above

(E) Not attempted EJFM-E'
s
This festival in Faral village is
celebrated on Somvati Amavasya

(A) Gugga Navami

(B) Phalgu tirth

(C) Baisakhi

(D) Lohri

(E) Not attempted

Five people P, Q, R, S and T are sitting
around a circular table facing towards
centre. S does not sit besides R. R sits
between P and Q. T is on the second
place from the right side of P. Who sits
to the immediate left of T ?

(A) S (B) R

(C) P (D) Q

(E) Not attempted

Topra is a historical village located in
which district of Haryana ?

(A) Faridabad (B) Panipat

(C) Rohtak (D) Yamunanagar
(E) Not attempted

A man travels 100 km distance at

60 km/h speed and next 150 km
distance at x km/h. If the average

PT - 24

53. E@—Q—W%W@Eﬁwm% ?
AA) e TAH
(B) FTE FerHg TISTH
(C) T e |
(D) STF § # IS TEl
(B) 3Totad

54, e Tt # a8 e G ST B
AT ST 8
(A) T FHT
~(B) e fad
(C) sETEl
(D) SEel
(E) TIATEA

55. uig &IfEd P, Q, R, S 3 T g %! AN 47
% AR B % 91 AL 96 2 | S, R
F o & TEl SeaT & | R, P33R Q % 5
T Y3a1 2 | T, P Q8 3N ¥ gE VIH
2 | T Sl 913 3T HH S31 2 ?

~(A) S (B) R

(€ P (D) Q

(E) ST

56. 219U =R & fory e o fm &

Wiy e & 7

(A) wleETE (B) T

(C) Ve {D) TR
(B) ITRnfa

57. U el 100 FE 1 g 60 FFH/TE
£ iR @ T T R s 150 e B
x%ﬁ/éaaﬁrr%ﬁaam%mﬁ{ﬁ

the man is 50 km/h in the : ¢ :
fvfcii _(i:)ct;urney, what is the/value of X | g RER 3417:":?[ 1 3ifEa T 50 %:ﬁ/ HZT’? |
from the following ? Wil freferfiad § & x %7 AA L 7
(A) 45 (B) 44 [EBIE%. (A) 45 (B) 44
C) 43 (D) 42 (C) 43 (D) 42
(E) SToRmEd

(E) Not attempted
-14-




58. Which of the followin
gender role ?
(A) Reproductive role
(B) Gender dynamicg role
(C) Productive role
(D) Comnmnity politics role
(E) Not attempted
59. Which of the following is most
suitable for teaching children, the
concept of fractions ?
(A) Cuisenaire rods
(B) Abacus
(C) Geoboards
(D) Number charts

e
(E) Not attempted

60. Dr. Sultan Anjum was editor of
which monthly Urdu Magazine of
Haryana for 35 years ?

(A) Tamir - e - Haryana

(B) Jajbat - e - Haryana

(C) Nagmat - € - Haryana

(D) Nigarshat - € - Haryana

(E) Not attempted

61. condition of

Epilepsy describes &
(A) hearing impajrmenf |
(B) abnormal brain activity
(C) visual impairment

(D) children with
(E) Not attempted

llowing is the light B

62. Whichofthefo

tank developed bY LS
meet the [ndian Army's redh

in the Eastern Ladakh ? ‘

(A) T72 M1 (B) {M'_]_L’u:w“'
(C) Vijayanta (D) Zorawe

(E) Not attempted

§1S not a type of

Als
[ $t

Jearning challenges

aftle
DRDO and L&T to

PT - 24
58. fefafEa # @ +t-m fom yfm o
YT TE B 7 )
NREEERLED

(B) fﬁ” ﬂfﬂ'ff'ﬁ?‘l'rﬂ 3—[&1’1?.]
(C) IeTeeh Yiftreht

_ (D) =gt wrerife i
(E) A9

59. WWWEEIWWW%WJ
(A) T TH
(B) UsishH
(©) Fririres
.(D) 9E&AT =M
(E) 3To=nfd

60. . e 3iSH 35 IN1 % g # fE
-(A) A i-u-ghaEmm
(B) STSSITd-T—giam
(C) FTHA-T-grEmn
(D) TR —u-fEm
(E) TSI
firat s et fRufe w1 vl e 2
(A) G <hl geferat
_(B) MMM Wi&T=h mfefata
(C) g3 geeraT ;
(D) diEa hi gHfert ared w=
(E) e

61.

62. Yl wEr@ ¥ Wy A bl SERAR )
1 QU & ¥ fw DRDO 3 L&T &
fasfird g1 gg i Fetggg 1 ¥
HHA-ET R ?

[ (A) T72 M1 -(B) H—:F{
{':1}:51 (C) fersrad (D) TR

(E) 3T







"

67.

68.

Lev Vngtsky’s theory became know

(A) Soc10-PsychologicaI theory -
development &

(B) Physio-Psychologicai theory of
development 2

(C) Socio-Cultural theory of
development

(D) Socio-Physical theory of IEJ*'E
development EI?‘;*

(E) Not attempted

People who have been living in the
forests for at least 25 years have g
right over the forest land and what is

grown on it. This statement is related
with which Act ?

(A) Right to Forest Act, 2007

(B) Indian Forest Act, 1927

(C) National Forest Act, 1988

(D) Indian Forest Amendment
Act, 2019

(E) Not attempted

What primary cultivation is found in
the flood plains of Panipat district ?
(A) Tea and spices

(B) Rice and sugarcane

(C) Cotton and soybeans

(D) Vegetables and fruits

(E) Not attempted

“The sum of any two whole numbers

number.” This property
) as

of
is a whole

whole numbers is referred
(A) Distributive property
(B) Closure property

(©) Commutative ProPe’ ty
(D) Associative property

(E) Not attempted

s SO

67. A AIEE F firgi
AT ST #

& = Li

(A) Terra 1 arenfsres - ¢

p2 o T;I'.J

(B) feorsbrar o1 srrfifras —meidsnfers: S
-A4) fermmr = qllflfir?.ﬁ-'mr;.-}—,pr;_p, &,—;‘,—;

(D) T =1 mmenfsr - sitferp fargia,
() rarfia

68. I EMHE B FH 25 99 F e d oz 2 5
i w sAferepn 2 | 77 wua fEm afafay
| Hafya 2 7

(A) T R sfufEm, 2007

(B) Wt 7 sfufiEm, 1927

(C) Tsfia = Fafufwm, 1988

(D) YR 99 HIgT waEa, 201

(E) 3TETEa

yrafires @eft 9r$ A 2 2
(A) =TT 3 HETE
_(B) =T 3R 1=

(C) HuTE 3T HIAT
(D) wfesat 3 wey

(E) 3ronféa

69.

= T

70. Ny
ge gidl 8 | £
Fal Sal 2

ElkE (A) feercer o1

]!;# (B) @ISt 1

() fafaa o
AD) wrE=d
(E) Inwmfad

‘f_ﬂ qEgIHl % 31
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71. Moral development theory is given by
(A) Jean Piaget (B) Lev Vygotsky
(C) Kohlberg (D) Pavlov
(E) Not attempted
72. The theory of Pedagogy is broadly
classified into categories.
(A) 4 (B) 3
(C) 2 (D) 5
(E) Not attempted
73. Rickets is caused by the deficiency of
which Vitamin ?
(A) Vitamin A
(B) Vitamin B12
(C) Vitamin C
(D) Vitamin D
(E) Not attempted
74. The circulation of water between
ocean and land is known as the
(A) Water management
(B) Water cycle _
(C) Water recycle %}E}ﬁ
(D) Water pollution =
(E) Not attempted
75. The stage between 11 years to 15 years

above is
(A) Sensory Motor stage

(B) Pre-operational stage

(C) Concrete operational stage
(D) Formal operational stage
(E) Not attempted

PT - 24
71. e ferepr fogra foraeh g fem mn 2 ¢
~(A) S forrmst (B) 9 ARATIER]
(C) gt (D) e
(E) 3rsanfed
72, fremones % figra w1 A a W
siforert #f arffepa e T 2 |
. A7) 4 (B) 3
E]E']
éﬁfgg}' (C) 2 (D) 5
S
73. Tehem form faerfam i & & 211 2 7
(A) faerfim A
(B) fererfim B12
() feer= ¢
;(D)ﬁ'{l‘ﬁﬁD
(E) 3rfaa

74. HEEIT 3R 4fH % &= I« 5 F9eH B
w1 HEd &

(A) T SSEH

_(B) & b

(C) SIeT q=ishoT

(D) ST HG8 U

(E) I

11 ady 1599 § I o R IR
(A) G WL Jraen © >

(B) d ~wfshaTeHe Jrae o+

(C) 3 Hfsharensh Iraedr +-"'
~(D) 3itu=ies AishaTeHe AT

(E) 3rRnfaa

75.

-18-
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76.

77.

78.

80.

] l 1
PEACE coded ? Now jg
(A) RGCEG (B) QrFBpPR
(C) RDZBD

(D) QECEG
(E) Not attempted

The three Parameters of

. adult
socialization is

(A) Childhood, marriage, parenthood
(B) Childhood, Mmarriage, old age

(C) Marriage, parenthood, old age
(D) Childhood, parenthood, old age
(E) Not attempted

Pre-operational stage start from
(A) O -2 years (B) O -5 years
(C) 2-7years (D) 2 -9 years
(E) Not attempted

Complete the following analogy.
Horse : Mare : : Dog : ?

(A) Paw (B) Bitch
(C) Kennel (D) Puppy
(E) Not attempted

i 2€1
The interpersonal relations betwe

the teacher and the students involves
(A) Keep students involved and

actively participating !
(B) Show concern for students anc

i oblems
their pr re students to

(C) Motivate and inspi
learn

(D) All of the above

(E) Not attempted

PT - 24

PEACE ! o6& weht format smom -
AA) RGCEG (B) QFBDF

76. IfE TAIL %1 VCKN formy AT 2 @

(C) RDZBD (D) QOECEG
(B) rvamferea
77. FIH USRI & d19 Tnfrer 3

(A) w=T, forare, wrg-fge
(B) s, foamg, sgm
rig [ (C) fommg, mg-fage, gam
Iur.# _
%= (D) S99, g-fage, e

(B) A9=miEd

78. Mfi-3RIAS = ¥ 9% 2 2
(A) 0 -2 (B) 0 -5 a4
~(C) 2 -7 (D) 2 -9 a9
(E) 3rumfaa

79. TmAfafaa wewa mu %t |
Eﬁ@:ﬁ'ﬁ;ﬁ::‘@'—rﬂ:?

()T - (B) Ffrn

(C) e (D) Toee

(B) 3T

go. fuereh 3t Bl & sie qREdE J94 5

gnfiet & o

(A) B I AT T I HHA T H
CIURCEl |

(B) ©TEI 37T IHI guenal & o fEa
fe@m 1 - 5

(©) BTl @ HE & fore wreaTfad 3N
e

_(D) 39wl
(E) 3rsfEd
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85.

86.

87.

Which among the f‘()llowine be]
a 5 (
the maximg of tege LR o, ong to
(A) Proceeq from Simple ¢4
PUIH|1|¢\§<
B) Pr ;
(B) Proceed from Particulay
general
(C) Proceed from whole to parts
D) All of the above
(E) Not attempted
Choose the alternative which best
EXpresses the given sentence in direct/
indirect speech.
Anmol said to her. “Don’t read so
fast”.
(A) Anmol told her not to read so
fast.
(B) Anmol advised her not to read so
fast.
-C) Anmol requested her not to read
so fast.
(D) Anmol ordered her not to read so
fast.
(E) Not attempted
Students with speech defects may
(A) Need more time to orally answer
questions
(B) Use assistive technology to better
communicate _
(C) Also be at risk for being targeted
by bullies 1"?[‘]
~(D) All of these [ﬂf@
(E) Not attempted

88,

In Extensive reacing

(A) The aim je only to grasp the

meaning of what IS reac

,,v ri.. (B) The Il!'lp of the tea her is
f'l' IJI "l

maximauim

{(I] Wf”'l’i.’;‘ I}f]];p\,r"; aricl EXDressio

4are not studijed N detail

/“)] I{'(JH] {‘\} ,'||']r] r."] Are correct
(E) Not attemptec

89. Measures to improve handwritine ie
(A) Using the trans ription notebook
(B) Model writing on paper mav be
displayed on flanne|
(C) Use of over handw riti:
above

~(D) All of the

(E) Not attempted

90. Choose the appropriate active

form of the following
the alternatives given bel
Piyush’s pocket has bee

(A) They have Piyush's pocket

picked

(B) Picking has been done to Pivush's
pocket

(C) Picked has been Piyush'’s pocket.

Someone has picked F Piyush’s

-(D)

pocket.

(E) Not attempted
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&= W

1. Terffian aw 4 & vg awa wA-m 2 7
(A) W = 3nft ST ST R |
(B) 3t =1 37f) SR T 2 |
(C) T anvft SR ST R |
(D) § 37eft SISIK SIET 2 |
(E) 3Twed

92. NI weg T ®9 # form1, s=4, @9 qA
HTF & HRU TREA T&l Bl
_(A) feerd (B) 3157
(C) TeId (D) Reh
(E) 3TSfea
93. NS HA fhdd TR & & 7
_(A) T3 (B) =t
(C) & (D) @
(E) 3ToTTEa
94. T’ @1y fohm it T § B B 7
(A) HdshrA
_(B) g9 &I
(C) wfesT Fre
(D) 3 § HIE T
(E) 3rSTted
95. el B # Hl Rt wrd et & ¢
. () 24 B) 12  EE
(© 10 (D) 13 Eliﬁw
(E) Twafya

96. feu o wEny w eA § ufew 3R fosRedi

eral & Frefafad w9 1 3T gHT |

1, Hife 3% sgd Ragr |

Sl ?

FEl Fal Afe 7™ % q G & A I |

gf 9 e, M 2 W, 2 g A ?

TR g, IHier M, g9 %d = S{T |

el 22 B9d e 99, Hig ¢d ged ?

q HIEl i ARA Hied, gefe e 7 ©iE |

g‘g‘fﬁﬁaﬁwﬂﬁﬁﬁg,wﬁiﬁﬁﬁﬁ
|

Gg I S, TS, A B I e |

T WM, Hifg Mo 61 i, & =7rar g ud |

I3Tier foreeht oy @t 2 7

T
I ]

(A) TSI (B) STfSTeH
(C) TaAeA AD) M=
(E) 3Tw=nfaa
97. O W I URY {ohEeh gHT g3 4T 7
(A) Torer (B) Wit
-(C) urforfs (D) HTfeTerE
(E)
98. [l =Afed, S I SE & A9 HI F4T
wad @ 7
(A) HeA™ AB) EsT
(C) (D) Teramfersrom
(E) v
99. W fohdd FebTy & BId & ?
(A) 7 i (B) 8
{cila (D) IS H & <hiE el
(E)

100. &gl @ 31 H et 396 37 o fasiwan
A A 3k 3 g wew & A
ST 1 2 7
(A) IgE ~(B) 9=I
(C) |f (D) T9™
(E) 3rwnféa
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1 Answer Key for PT — 24 (Set-A)

isiona

Prov

Answer Key

Question No.

51

52
53
54
55
56
57

58

59

60
61

62
63
64

65

66
67
68
69
70
71

72

73

74
75

76
77
78

79

80
81

82

83

84
85

86
87

88

89
90

91

92
93

94
95
96
97
98
99

100

Answer Key

Question No.

10
11

12
13
14
15
16
17
18
19
20
21

22
23

24

25
26

27

28
29
30
31

32

33

34
35

36
37
38
39
40
41

42

43

44
45

46

47

48

49

50




1 Answer Key for PT — 24 (Set-B)

isiona

Prov

Answer Key

Question No.

51

52
53
54
55
56
57
58
59
60

61

62
63

64

65
66
67
68
69
70
71

72

73
74

75

76
77
78
79
80
81

82

83

84
85

86
87

88

89
90

91

92
93

94
95
96
97
98
99

100

Answer Key

Question No.

10
11

12
13
14
15
16
17
18
19
20
21

22
23

24
25
26
27
28
29
30
31

32

33

34
35

36
37
38
39
40
41

42

43

44
45

46

47

48

49

50




Provisional Answer Key for PT — 24 (Set-C)

Question No.

Answer Key

Question No.

Answer Key

1 B 51 C
2 A 52 B
3 D 53 B
4 A 54 C
5 A 55 B
6 C 56 C
7 B 57 D
8 C 58 D
9 A 59 D
10 B 60 B
11 B 61 C
12 B 62 D
13 A 63 A
14 A 64 C
15 B 65 A
16 B 66 D
17 B 67 B
18 B 68 C
19 B 69 D
20 A 70 A
21 B 71 C
22 C 72 C
23 A 73 C
24 A 74 C
25 B 75 D
26 C 76 C
27 A 77 A
28 C 78 D
29 D 79 C
30 A 80 C
31 C 81 A
32 B 82 C
33 D 83 D
34 C 84 D
35 C 85 D
36 D 86 D
37 A 87 D
38 B 88 A
39 B 89 A
40 D 90 A
41 B 91 B
42 A 92 A
43 C 93 D
44 A 94 A
45 B 95 A
46 B 96 A
47 A 97 B
48 C 98 D
49 B 99 A
50 A 100 C




Provisional Answer Key for PT — 24 (Set-D)

Question No.

Answer Key

Question No.

Answer Key

1 D 51 B
2 A 52 B
3 B 53 A
4 A 54 C
5 B 55 A
6 B 56 C
7 A 57 A
8 A 58 D
9 C 59 C
10 D 60 D
11 A 61 D
12 D 62 C
13 B 63 C
14 B 64 B
15 A 65 C
16 D 66 A
17 C 67 C
18 B 68 C
19 B 69 B
20 B 70 C
21 C 71 B
22 B 72 B
23 C 73 D
24 B 74 D
25 A 75 C
26 A 76 B
27 C 77 B
28 C 78 B
29 A 79 A
30 A 80 B
31 C 81 D
32 D 82 A
33 D 83 C
34 B 84 A
35 B 85 A
36 C 86 D
37 A 87 A
38 D 88 D
39 A 89 D
40 A 90 D
41 C 91 A
42 D 92 C
43 B 93 B
44 C 94 B
45 A 95 D
46 C 96 A
47 B 97 A
48 A 98 A
49 C 99 A
50 C 100 D
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